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M Giveny = —2x + 9, determine which points satisfy the inequality:
Inequalities| 213 b) (10,5)
9 > 4> -2(-\* -52 -2(0) +9
> L O " 5?_ '—2-° - q
I ET B2-11Y
(-33) 18 o Solukeon (10,-5) IS oS¢

A linear inequality is similar to a linear equation, but it has an
inequality symbol and an infinite number of solutions.

Graphing

1) Put the inequality in slope-intercept form. Flip the inequality
symbol when multiplying or dividing by a negative.

2) Graph the line. Use a dashed line for < and > and a solid line for
<and >.

3) Test a point (0,0) by substituting it into the inequality. Ifit

LI near mabkes it true, shade over the point. If not, shade on the
o gse opposite side of the line. Do not use a point to test if it is
Inequalities it sSR! it L
the line.
For linear systems this means:_Shade above the line for > or = and
below the line for < or <.
Exl: 5% ‘:S Ex2: %=lby< =12
o ‘5 X ~loy & %12
3! : L -5 _B_ T\é - -l
s T 3 5 \ t—x + 2
& —2%*’« K' Y : a /[yfy\ “\,\,‘ \ [\"&\yl
3'— - W\ /‘ NE NN E NREA ‘J
AN d L] YIIEH ,/J‘
AT \& =7 N ;\ | 1 q (g 0 7 W
<o\ A ,\ : e \ ." Tt VINEWE
e AN Divided by | (I FEA =7
ey ALy~ B (- ) = ;
—rcs;+ (O‘O\ // //' L A
d 4 7
5(0) F3(N4 V2 PPTELEPA
o L£\2 TV b N
D |tee R
{ oV Ve " / r =
Snad S T A \;
(0 O] Eewy . )

n e

and on H1e ((ne or

All e ’PO\(\{'S(

QUV\
L Soludxca\s



N

The solution to a system of linear inequalities is the set of
ordered pairs that satisfy ALL the linear inequalities in the
system.
SVStem Of The solution is shown by graphing.
Linear
R 1) Graph and shade each linear inequality.
Inequalities
2) The solution to the system is where the shading
overlaps.
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Ex7: To raise money to attend Boy Scout camp, Alex is selling popcorn. Small bags of popcorn

sell for $4 each and large bags sell for $6 each. He needs to earn at least $300 to attend
camp. He will also earn a badge if he sells at least 60 bags total of any combination.

]
a) Write a system of linear inequalities to §
represent this situation, then graph it. q_% N AN LA \
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Ex8: Greg needs at least $1.60 in stamps to return his Amazon order via mail. He has g_8_¢_
and 4¢ stamps. He can use no more than twenty 4¢ stamps as he only has one book left.

correct postage.

a) Write a system of linear inequalities to &_A
represent this situation, then graph it. f",q,
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